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Linear and exponential relations}
increase by a constant amount:

differ in the way the y-values change when the z-values

« In alinear relationship, the y-values have equal differences.
« In an exponential relationship, the y-values have equal ratios.

Here, the z-values increase by exactly 9 units each time:

z ~+9 ~+9 ~+9
1 10 19 28

However, the y-values neither change by a constant difference,

v A2 ~+8 ~ 436
2 4 12 48

nor by a constant ratio.

y ~x2 ~x3 ~ x4
2 4 12 48

In conclusion, the relationship is neither linear nor exponential.
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Is the relationship linear, exponential, or neither?

Choose 1 answer:

(®) tinear
Exponential

(© Neither
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Linear and exponential relationships differ in the way the y-values change when the z-values
increase by  constant amount:

« In alinear relationship, the y-values have equal differences.
« In an exponential relationship, the y-values have equal ratios.

Here, the z-values increase by exactly 8 units each time:

z ~+8 ~+8 ~+8
9 17 25 33

The y-values do not increase by a constant amount, but they change by a constant ratio of 4.

y ~ x4 A~ xd ~ x4

—24 —96 —384

In conclusion, the relationship is exponential.
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Is the relationship linear, exponential, or neither?

Choose 1 answer:

(®) tinear
Exponential

(© Neither
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Linear and exponential relationships differ in the way the y-values change when the a-values
increase by  constant amount:

In a linear relationship, the y-values have equal differences.
« In an exponential relationship, the y-values have equal ratios.

Here, the z-values increase by exactly 1 unit each time:

z ~4L ~4l A+l
3 4 5 6

‘The y-values also increase with a constant difference of 5 units.

y ~+5 ~+5 ~+5
9 14 19 24

In conclusion, the relationship is linear.
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Is the relationship linear, exponential, or neither?

Choose 1 answer:

(®) tinear
Exponential

(© Neither




